
 

 

FSR 244 Bergen Boulevard, Woodland Park, NJ 07424, Phone: 973.785.4347 - Fax: 973.785.4207

43036 LIT1452

 

 

 

1.50 1.50

1. REMOVE BASE COVER.

BASE COVER
(RETAIN FOR

REASSEMBLY) (2) COVER SCREW
(RETAIN FOR

REASSEMBLY)

2b. SWIVEL BASE MOUNTING:

MOUNTING HOLES ACCESSED
BY SWIVELING UNIT

(SEE BELOW)

RECOMMEND DRILLING
3/4 DIA. HOLE FOR

CABLE PASS-THRU

DRILL PILOT HOLES
FOR DIMENSIONED

HOLES AND TRANSFER
REMAINING HOLES FROM

BASE TO SURFACE.
DRILL 5/64 DIA. PILOT HOLES
FOR #8 SCREWS (SUPPLIED)

HOLE ACCESSIBLE
WHEN UNIT IS

SWIVELED

1.50 1.50

SWIVEL UNIT
COUNTER-

CLOCKWISE TO
ACCESS HOLE

2a. STANDARD BASE MOUNTING:

9 POSSIBLE MOUNTING
HOLES (RECOMMEND

3 MINIMUM), TRANSFER
PATTERN FROM BASE

TO SURFACE.
DRILL 5/64 DIA. PILOT HOLES FOR

#8 SCREWS (SUPPLIED)

IF REQUIRED DRILL 3/4 DIA.
HOLE FOR CABLE PASS-THRU

POSITION IPAD BETWEEN
TABS OF FRONT COVER

IPADFRONT
PANEL

REAR VIEW OF FRONT PANEL

6a. PLACE IPAD ONTO FRONT PANEL AND CONNECT CONNECTOR.

6b. REINSTALL FRONT PANEL AS SHOWN BELOW WHILE
HOLDING IPAD IN PLACE.  SECURE WITH ORIGINAL SCREWS.

FRONT PANEL

IPAD (SUPPLIED
BY CUSTOMER)

CONNECT TO IPAD BEFORE
REASSEMBLY OF FRONT PANEL

ENSURE SWITCHES ARE PROPERLY
SET BEFORE REASSEMBLY OF
FRONT PANEL

USE PENCIL
(ERASER END)

TO ACTIVATE
POWER SWITCH

(4) COVER SCREW

INSTALL #6-32 NUT
(SUPPLIED) TO

DISABLE POWER
SWITCH LEVER

TM-IPAD-TR / TM-IPAD-TRS / TM-IPMINI-TR / TM-IPMINI-TRS INSTALLATION INSTRUCTIONS

3.46
MIN.

A

A
B

B C

C

NO SCREWS -
HOLE A -
HOLE B -
HOLE C -

180°
140°
104°
90°

INSERT #6-32 x 1/4 LG PAN-HEAD
SCREWS (SUPPLIED) TO
CORRESPONDING LETTERS TO
CHANGE SWIVEL RANGE

INSERT #6-32 x 1/4 LG
PAN-HEAD SCREW

(SUPPLIED) TO DISABLE
SWIVEL FEATURE

REMOVE COVER FOR
HORIZONTAL / VERTICAL

LOCKING OPTIONS

HORIZONTAL / VERTICAL
LOCKING OPTIONS

(ALL MODELS)

COVER
SHOWN
REMOVED

ROTATE IPAD HORIZONTALLY
OR  VERTICALLY AND INSTALL

#6-32 x 1/2 LG PAN-HEAD
SCREW (SUPPLIED)  IN

CORRESPONDING HOLE

FOR VERTICAL
LOCK POSITION

FOR HORIZONTAL
LOCK POSITION

BEFORE INSTALLING LOCKING
SCREWS, CENTER IPAD ON

BASE (AS SHOWN)

SWIVEL RANGE



 

 

 

 

4. REASSEMBLE BASE COVER.

BASE COVER

(2) COVER SCREW

5. REMOVE FRONT COVER.

ROUTE USB CONNECTOR (OR POWER
SUPPLY WIRING IF USING USB CHARGER KIT)
THRU COVER OR CABLE ACCESS HOLE
AS REQUIRED

FRONT COVER
(RETAIN FOR
REASSEMBLY)

(4) COVER SCREW
(RETAIN FOR

REASSEMBLY)

(4) COVER SCREW

FRONT COVER

6. REASSEMBLE FRONT PANEL WITH IPAD.  EXPLODED VIEW FOR
REFERENCE.  SEE BACK PAGE FOR FINAL ASSEMBLY.

IPAD (SUPPLIED BY CUSTOMER)

IPAD CONNECTOR (SUPPLIED)

USB CHARGER
SNAP-IN CONNECTOR

(USB CHARGER KIT
SOLD SEPARATELY)

SNAP-IN BRACKET
INCLUDED APPLE

CORD, USB END

SNAP-IN BRACKET
ASSEMBLY

SKIP TO STEP 4 IF NOT USING USB CHARGER
SNAP-IN CONNECTOR OPTION.

3.

3a. REMOVE SNAP-IN BRACKET.

SNAP-IN BRACKET
(INCLUDED)

#6 FLAT-HEAD SCREW
(RETAIN FOR REASSEMBLY)

3b. INSTALL USB CHARGER SNAP-IN CONNECTOR ONTO SNAP-IN
BRACKET.  CONNECT USB END TO USB CHARGER.

3c. REINSTALL SNAP-IN BRACKET ASSEMBLY.

#6 FLAT-HEAD SCREW

ROUTE POWER SUPPLY WIRING THRU
CABLE PASS-THRU (RECOMMENDED) AND
MAKE NECESSARY TERMINAL CONNECTIONS
(SEE KIT INSTALLATION INSTRUCTIONS)

HIGHLY RECOMMENDED WIRES BE
ROUTED THRU CABLE ACCESS HOLE
FOR SWIVEL UNITS

WIRING STRAIN RELIEF
TIE WRAP HOLE


